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* A spherical balloon is inflated with helium at
the rate of 100m ft3/min.

a) How fastis the balloon’s radius increasing
at the instant the radius is 5 feet?
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* A spherical balloon is inflated with helium at
the rate of 100m ft3/min.

b) How fast is the surface area increasing at
that instant?
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» Water is flowing at the rate of 50 m3/min from a
concrete conical reservoir (vertex down) of base
radius 45 m and height 6 m. dh) i+

a) How fast is the water level falling when the

water is 5 m deep? ~— - &
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» Water is flowing at the rate of 50 m3/min from a
concrete conical reservoir (vertex down) of base
radius 45 m and height 6 m.

b) How fast is the radius of the water’s surface
changing at that same moment?
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* A 13 ft ladder is leaning against a house when it's

base starts to slide away. By the time the base is
(12 feeb from the house the k

base-is-moving at a
rate O@C. w

a) How fast is the top of the tadder sliding down ﬁl H
\ the wall at that moment?
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